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110 Consider the following statements ;- )
1. Governor is appointed by the President
[I.  Heis the nominee of the Central Government ;
11I. The Draft constitution provided for the indirect election of the Governor
V. The Constituent assembly opted for the indirect appointment of the Governor !

Choose the correct answer :

(@) (D and (II) only correct (B) (I) and (IV) only correct

(©) (@ and (D and (IV) only correct (D) (III) only correct
(E) Answer not known
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Wlnch of the following Instltutlons has the final Power of dec1d1ng on the
~ Composition of the Upper House of the State legislature? :

Parliament

State legislature |
Lower House of the State legislature
1 one of the above
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112. The Indian President has a veto power over

113.

L
IL.
I11.
IV.

(A)
©)
(E)

L.
I1.

I11.
IV.

(A) =
©)
(E)

II.

(A)
(©)
(E)

I
1L

.
()

i

Ordinary bill

Money bill
Constitutional amendment bill

State legislation bill

Which statement given above are correct
(D and (IV) only (B) (IV) and (III) only

(D, (III) and (IV) only (D) (II) and (III) only

Answer not known
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ellenL_ CsMueaene ; | J

Money Bills can be introduced in the parliament without president’s approval

The finance commission is appointed by the president

Which of the above statements are correct?

(M only , . _(B) @I only

Both (I) and (II) : (D). None of the above
Answer not known b '

B8l wCangm, el Ll ueir urﬂﬁgjmmﬁéﬂ{_ﬂ ‘lr,rrur@méargpgféki) ST&SED Qe
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(D) o Hib i B) D) w @i

(1) wipio (I1) (D) Gupsea ereneuuificrenay
el Ggfwelebeane c
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114. The council of n‘lil.listers of the Parliament hold office during the pleasurg of
@) Prime Minister - (B) President
© Parliament | (D) None of the above
) Answer not known |

pm_n@ms'mg) iawdsgame g Lig), ©)aurg) 2 @EHEnLOUITeD

A" Gosw wpSIM (B) gamglud

€) BrTEHLSDD (D) @ eneu ergia b @)eanen
B o dsfluaidma -

115, Which of the following articles broadly Govern the relationship between the
Prime Minister and the President?

(A) Articles 74, 75 and 78 A (B) Articles 51, 74 and 75
(C) Articles 85, 74 and 75 (D) Articles 74, 75 and 79

~ (B) Answer not known

Searaumid eThs ellSlse gmnﬁu@ wHmid Yys whdfider 2 peysamer afleul&slarmen?
(&) ¢ Bbser 74, 5 0pm> 78 (B) e9dlsen 51, 74 wpmid 75

© A& 85, T4 wpmi 75 D) eSser 74, 75 wpmid 79
- (B) e Gzflwedldene - g ’ :

11t Directive principles of State Policy are described as "life-giving provisions of fhe
~ constitution" by ) : i ! L
(& LM Singhvi (B) Ambedkar
Rajendra Prasad - - (D) Radha Krishnan
: - Answer not known : s

auflar () Gararamssar eremg) ‘auﬁummm‘ﬁlﬂlg’)@ 2 GreflsEn eddsemm@n’
' gadlenmi. : B ‘
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(D) @rmsn dmayanen
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117. Consider the followihg statements on Fundamenta_l‘Duties d

i

2
3.
4

A)
(B)
©
D)
. (E)

&
2.

4 et

2wpmid 3 shlwnanenay

Parliament cannot enforce it by a legislation

It is applicable only to Indian citizens

All Fundamental duties are either moral or civil duties
Paying taxes is a fundamental duty |

Whlch of the above statements are true?
2,3 and 1 are correct

1, 2, 3 and 4 are correct

2' and 3 are correct

1, 3 and 4 are éorrect

Answer not known

SIGUUSLS SLewaar Qg iurer SDSEMTL cuTsSLkisamer seauaflésan

BILTEHLELD &L 6t epevid Qs SALOURSS WpigWimg)
Qs QpdHw @4més&;@é;(8&; Qun@'&,gl.b

SDAES  Siiq LI asn_emu)as@cm RWss  ApdsamerCuir SiDeg)

esLa)ma;mmGu_;rr Slig eI wins Qser_eay
ew&a';@ euflgener Qg@jggﬂmgm NG) e{quumL SLenw

Cuom sapliLi’_BerareunmieT craneu &M wimamena?

2, 3 wppib 1 suireaneres

1, I WwHmib 4 &ﬂ@nm@m L
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118. Which of the following fundamental rights-was, converted as legal right?
(A) Right to Equality
B) Rightto Freedom
(©)  Right to Religion
D) Right to Property

(E) Answer not known

GemauBauTaUDMIET 6ThH gL o Mew L 2 Mawwns wrHoUULLg)?
A) swsgle 2 few

B sspSv e few

© wvs o flenio

D) Qemsgifienn =
(E) oo Qzflwelceame

119. Identify the fundamental duty that was added in 2002 by the 86th Amendment Act.
(A) Respect National Flag
(B) Defend our country

(©) Develop Scientific Temper
(D) To provide opportunities for eduqationA to children between the age of 6-14

years

Answer not known

& 8610 ipflwe sTaa SHHEHED FLLID POLTS Camesiul L. SigliLien. &L enew

Wlu Gﬁnnq.s&)w (085560
mﬂ BTG LIITE| BT 56D |
: ﬂue‘v o _amriianel GLoidLI(H&5|se0
14 auuig) @gp;isémga@ésasrrm &6l &HE&LD eurrp'_noq Gugrél@g,eﬁ“
15 w6l 6 6n 6w |
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120. Consider the followmg statements :

121.

of Governmen;
1 The consititution of India estabhshes a Parhamentary form

I1. Prime Minister is the Head of the Government
II.  President is the Head of the Government ’ {
IV.  Real executive power rests with the President of India

Choose the correct answer from the following :

(A) (D and (II) only true (B) (III) only cor rect

(&) (II) and (IV) only correct : (D) (V) only correct

(E)  Answer not known , Y

LI EaMED &(Th&eyLd

L QiHw 2ATH LIS & ib LT T (@IHLOGOTD c"W&"W‘% peoperwl Blmiesluarers;
11, Ypgwoir DATEMRISSS 6 Seneveu it DL GUITIT

II.  suwurs SDOEUT DAT&TRISES 6l SnaeuiT oy euT

IV.  @uurs ST 2_eHTem oW mes Glacu_lsvrruﬂ <ASlsmyb QGWGW‘—QJ”

sflwrer aﬁla)gmm SeuTLfi) g _ .
(AR @) wpmn (I1) L Gid &1 i ) (ITI) Wi @b &M

©  Mopps@Wywcoost @) qV)wigbe
(E) Qe Qsflwedcrenen S

By what naine' Or names is our country mentioned in the Indian Constitution?
(A) Indian and Hindustan :

(B) India and Bharat

(C) Bharat :
(D) Indla, Bharat, Hindustan
(E) v Answer not known

S . @;_r,ﬁu_n 2yyélwevenolsGe @gS]ulﬁlLuul_(amm @,Lﬁﬁu_lrraﬁlm G u.mé? ,
(A @g@waﬂ mgpgum @p@@ﬂ)g,nm

b umgpD |
@ﬁﬂmm NS0, @)1 6 e et
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2 Match the following :

12
‘ (a) Ar ticle 39(b) 1. | Protection of Ecology,‘ Environment from Pollution
(b) Article 48(A) o, - Equal pay for Equal wolrk ot
() Article 39(d) 3. Free legal aid to the poor
(G Article 39(A) 4.  Abolished hereditary property

@) b)) - (o) | (d)

a1 2 3 4
By 1 3
s 5
@) 4 3 K
(E) Answer not known
& _euperm Gl rr@gﬁ,g,]‘a;. ;
o) Q_QJL.JI_; 3'9(b) e @Qeﬁu@ LOHMILD a'rrj)gjé GP6 T&EUM g el([HHs!
g, | LTgISTUL > -
(b) - sl L2 mui 48(A) 2. & CaumaéE & 2ardluilb 3 _
gl 2 gy 39(d) 3. gaey eraflu LDéSBS@éS@ Qeovais s L 2 gafl 4
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123. Match the following :

Preamble as
(@) Political Horoscope
(b)  Keynote to the Constitution_
(©  Soul of the Constitution
(d) Paradise of Lawyers

W ) ()
(A

1 2 3 4
B 2 1 4 | 5
© 4 5 2 1
@) 1 4 3 2

(E) Answer not known

Qumpssys :
wsuyeyuler ug
(a) =yrdwe 551D
(b) ag@wwwmﬂ@@r Fmed)
Siyélween ol 9er gy emiom

Qs ehrsafler QeniésLnb
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Said by

Sir Ivor J énningS B
Thakurdas Bhargav
B.R. Ambedkar
K.M. Munshi

Earnest Barker
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124. Find the value of % if
12428+ +&° = 44100
@ 20
© 22
(E) Answer not known
k -er LI STETS.
1¥+2%+.+ k% =44100
@A 20
© 22
(E) eleoL Gsflweldme

-
C@)
a a7
(D). 23 “t %
i
\{'Lr
(B): 21

D) 23

]é'). If A=2% and B=25 1+ 251 262 ...1 2% which of the following is true?

(A) B islarger than A by 1
(C) = A and B are equal
(E) Answer not known

(B) A islarger than B by 1
(D) B is 2% ‘more than A

B i B o°t oty 957 90 aans  Qer@ésiiul Geterg  eredled

Sereu(meuemeummleh 6Tg) o eBTenio?
(A) B <paig Ageil 1 oidsn
(C) A womgb B sob

(E) o9enL Qsfwelidvenaw

~ Find the missing number : .
3, 12, 27, 48, 75, 108,

Answer not ‘known

B) A yarg Bpell 1 oidsibd

(D)'. B <yeng) A g efl 2% oiflsid

(B) 162
(D) 192
T 5 3
x 3 ' O+
5T g
(B) 162 | 3
(D) 192
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127. In the given number pattern find the next term

21 321 4321
33’ 4445555
| 1234
7531 : B
@ Sees ® S55s
- 54321
(®) 4321 - : , el
2222 66666
(E)  Answer not known .
- @ J581 ' 5 ® 128¢ 2
i 6666 | 5555 g2l
i © 1821 o 54321 Kl
2299 - | : 7 66666 - . ey
T v

(E) &lenr Qg,rﬂﬁ_jaﬁlei)ma)

2R F HUMBLE 1s given by the code EHEU,&BM What does the code EDUCATION

mean? : e "‘D ¢ f u\:‘ o g
{

nomes. | Loc 7, 1T ¢ Ty

DUTCA : m.gnt\'b\/ _'r(.\qw 2\ J :
(B) NEOIDUTC o e o
(C) NEDUOITCA \; v}f
. i =gz
(D) NEODIUTCA %\5 <

- (E) Answer not known
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What is the 'probability of getting an even number when a die is thrown?

(B)

129.
A

(©) (D)

() Answer not known
S LS®LOW 2 (HHELITpG ¢f @ rlaL L T e fen_Lugnarer Hlepssel qurgS? Q\‘s'
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(E) ofer Qgrﬂu.ueﬁ]eusmu 2 C ‘\ 0o %(/
‘ 2\
1130. The present ages of Arun and Suresh are 24 year d 36 yfﬁs resp?c}'vely. at
was the ratio between the ages of Suresh and Arun, g}ears ago? RS us
@ 4:7 B) 6:5 o u/‘/vg//f/frb
| B, 7:4 : )32 AT 2 Sl/c{ v
! (E) Answer not known ()) fa f»/ LG
2 Lo

(e : LHMID &Gr}dsp sHGUTemg W QUG HET aparpCui. 24 e%b_l_rmaéeﬁ wHmIb 36 UL EISET

cafle 8 yasEEsE ety &Grey LHML DAGET eSSl edlsld ereaTeUS

R 58 HEEGWD? S | =

@@5@@ @07 % : , Bt ol K
V(A)_ A 7 R s WB):..65 /k = /‘Z 7 1
L © 1:4 TS ®) 3:2 A

(BE) eflen GsAweiiedoama : : kAN € o 2

.and B together can do a piece'of work in 16 days and A alone can dodt in 48 days.
v long will B alone take to complete the work? v “\!. 24
: &

18 days : (B) 24 days

- i
days | . 0days  KE 2
| i

swer not known e .
‘ Su

, g : _ : ¥
2 Hu @) meu(Hid @ e @ Galmeemul 16 ;f,m_a;erﬂsbﬁ@lq_uur'r. A safiCw
weps 48 pmsafle aplgamit ereled, B sallCu wips Gameu assmarn -

JImT? ' ' )
, \‘l} . (D) 30 prt_sar tA = 4¢ QY
L
, \bt%- i U N K«R‘
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132,

210 men working 12 hours a day can finish a job in 18 days. How many mep ay

required to finish the job in 20 days working 14 hours a day? 1s
A 156 men (B) 162 men
(©) 168 men (D) 172 men

(B)  Answer not known

210 yawsar sremenpas 12 wef Cprd Caumer Qoig om Caumewew 18 BrL_safl;
Wxuut. &Cs Camaamy prlememas 14 we Crrb Geuwer Qeiig 20 B _safle WPy s
TSsoa yevse Csama? .

Q) 156 yavsar
(C) 168 Ny sar
(E) Sac Qsfufowme

B) 162 gyawsar
D) 172 syamser
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134, A mason uses the e{(pression 2x° +16 to repreéent the area of the rectangular floor
of a room. If he decides that the length of the room will be represented by 2(x + 2)

then what will the width of the room be represented in terms of x.?
@ 20x-2) :

B -9

(©) (x2 -2x +4)

O (*+2x-4)

(E) Answer not known

5LtorL_GGJ@GUUJWdT Q(Heu é{sb[pufﬂéar Qeeueus auigeu enguden LFLLETE 2x3 +16 CTENS
Sionaflsgs Qerermt. wiger ferd 2(x +2) arans GHESLLLLTD SGOLTEIE X -6
emune 966U (hHeuTeUHMIET 678 ? '

B Y e pre Ar>He
., i I :
y (E) d&feor Gsflwelidomer : }715\’\‘0."; AN o

3 The volume of a solid hemisphere is 29106. cm®. Another -hemisphere whose volume
- 1s two-third of the above is carved out. Find the radius of the new hemisphere.

Lo Sty
2 (w2
nswer not known . : ~ 2 —eh T

'mqé;Gasrrmg’;ﬁeh sarojere] 29106 5.0515. epandle @qe&m@ LG ST SieTayeTar
paGamand @A mHg QogiEsin@wremd LdHu cgqmgé;(giq_m%@: i

¢ np> Ge-8ur )

: : /4(741)
2‘“,‘(' L _

3 ' y
lob - —
e 1,01 | 2
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' : : in sum of mone
136. The difference between simple and compound 1nterest_on a certain y for

2 years at 2% per annum 1s ¥ 4. Find the sum of money

@A)  ¥2,000
B) 7,500

(C) 10,000
D) ¥ 12,000

(E) Answer not known

2% e Ul guled 2 YRTHESG @ SNEREEGS Ha &5 sl () el 19 6@ el el 1g&Eh
B e Cuiuyerer ellgHwimad T 4 erasiled Dieummlen oiged erevment?
(A) 2,000 | |

B) 7,500 ool b _
.
(C) ¥10,000 .

‘ 57
D) 12,000 @/ z

(B doL Gsfwuaiame

137. The difference between the compound interest and simple interest accrued on an

amount of Z 18,000 in two years is ¥ 405. Then the rate of interest per annum is

A 12% . e ® 15% |
(C) 18% | D) ()‘1/0%
(E) Answer not khown 3 S(/ k

. . D~ \()_) b\ D

@@ w@l—mgﬁﬂw ¥18,000 Bprer &G i, gmﬂqu éci;éﬂmeum!ﬂem o154 wimetd

12% ‘ , B) 15%
(D) 10%

\L
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138.

139.

Find the rate of interest if the difference between C.I and S.I on % 8,000 compounded
annually for 2 years is T 20

@A 5% , (B) 10%
©€) 15% (D) 20% D=
(B) Answer not known

Nt

t 8,000 55 QI BHTRSEHES H@LEGD sl B uligs@n, safl aliksEn Gl Cu

o grer eflgHwnad T 20 erafled cul g 65510 STawTS. : o
A 5% “(B) 10% Df/ ﬁ'}
e
© 15% . D) 20%
, %@DO X
(E) ol Qsflwuelevenen ' : : &O SN

Find the principal on amount ¥ 11,800 at 6% per annum for 3.years being simple

interest annually.

(4) 78,000 Qo Do

B) %9,000

= (© 10,000

9,500

Answer not known

b am{saic 6% saflol iy 6isb Corss Ggrms T 11,800 sieflag b sigmas srars.
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140. Thé {zalﬁe of a machine depreciates at 10% per year. If the present value ig
£ 1,62,000. What is the worth of the machine after two years?
(A) %1,29,600
(B) 7 1,30,600
(C) *1,31,600
il ! (D = % 1:31,220
| (E)  Answer not known

—

B 26 BuidrsSean sHCuresy LAY T 1,62,000. gaGaim 2ETOEED BubSisda
\}}t wiluy 10% Ga@pdns. arafled, Qram® @ slés @aiewupbsrsdear Ui erearn?
4d)  %1,29,600

| % | £ \ 0
lg | (1;) 2 1,30,600 ‘ﬁy \b % % 5
i . 1,31,600
| Ty | % i \Vf\ \\('%
(E) ol Qsflweioemea : 6 ° : \ L\' b ‘)/N
i \b PRC

. A sum of 2 48,000 was lentout at simple interest and at the end of 2 years and
3 months the total amount was % 55,560. Find the rate of Interest per year.

@ % | B) 8%
RO 0% e | D) 10%

)  Answer not known

 QUPESLILL L oige) T 48,000-4 2 SARTHEeT 3 LOTEE STOSEDHEL 1 e saflou s
LucL Gorsss Gsmens 2 55,560 45 Qmibss erafler, au iy o056 srams.
E B) 8%
D) 10%
J_ Glg;srﬁ u.l"a&'lcbmm ‘
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142. Ra.g}}lllsltr’;‘:st:i tg find the height of a tree in his garden. He checked the ratio of his ‘
heig adow length. It was 4 : 1. He then measured the shadow of the tree. It

was 15 feet. What was the height of the tree?
a) 15 feet : <Ry S0 eet

(©) 60 feet | (D) 75 feet
(E) Answer not known '

Qree sag CamiLgHd o erer @ wrsHlen 2 wisms Siblws oflpiibanmi. oCUMg sieu
OGS WIS®SWD, seig) Hlipeden Bergeguyb sienhg g 4 : 1 ctemp eilélgsdler 2 erarans
2PBSTT. Wery wygder flpeden Bemib 15 9ilg GTeTled, ySHerm o wWiriD eTemen?

A 15e=g (B) 30 =4

(©) 60 | D) 75 <iq

(E) e&fer Qsfwelevanen ‘

, | 143. A shop keeper marked the price of an article as 15% more on its cost price and then
. offered 15% reduction for the article, then he got

A) ~ Profit

(B) Loss

(C) Neither Profit nbr Loss
- (D) Profit as well as Loss
" (E) Answer not known

B BEHTIT 20 Guﬁ@aﬂén 2L &5 ellamauder 15 565510 flsoméd S GNSS e
@i, il 15 s56551b Se@nLilg. Hg) ellpuamen QsSDTT Tl semL_&aTiT il b

L i GR1P/21
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144. A hemispherical tank of radius 1.75 m is full of water. It is connect.ed Wl?ﬁ i flp,e
which empties the tank at the rate of 7 litres per second. How much time will 1t tak,
to empty the tank completely?

(A) 27 minutes

(B) 26 minutes
(©) 72 minutes
(D) 62 minutes
(E)  Answer not known

R 175 5 o drer @it iangCaimen augais Gsmiy wpodlaind Syme Hriuiiu’ Gereng). g
GRmier e epmydsE 7 oLt cisd Qsm wulelmig B QaielGupplL@LTeamed
Qsm 14w ereeueray Crrsdled peugioms srell Qediwamib?

@) 27 B8 ruser |

A B) 26 QB ruser

o ©) 72 AOLruser

& D) 62 HOLmser

E) el Qsfwelerane

145. Find the LCM of (x* — 1), '(x"" — 2x + 1 ) -
(A) (xz' +1) (x + 1)‘
B)  (x+1) (x-1) ‘ ‘
R -1 i

B ey -1 £
(E)  Answer not known |

' Qurm.io sreins. (x* - 1), (x* - 2x + 1)

B (xz + 1)A(x +1)

8

L
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146. Find HC.F. of (x%y + xy%), (x? + xy)
@ xty B xy
[C)  2(x+y) D) x? + y?

(E) Answer not known

@y + ), (x* + xy) ey fweupien B.Qur. ou. ses.

@ x+y . (B)e xy

© x(x+y) | D) x4y
B e Osfuciome | |

. : e 3 8
. Sim 5—+ — of —
147 p}xfy e

A 6 -

Answer not known

+§- @e&rg- , }9——
% Y8,
_J_l *?; 23 +y
B
N
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A)

(©)

(E)

il BGEE ee
| Bt s T 0 o 116

)

(©)

i E)

(A) small continuous heritable vanatlon VZ
.(B) small continuous non heritable variation . % i %
(C) _.sudden heritable variation ‘ :
(D) sudden discontinuo'us, variation il, : ;
(E) Answer not known ff +3 '__,% 4 B
. , S el N
umsﬂar mgpguuq @amma;m e epeLd (Sgrrmgjaﬂaasuu@eﬁmmm?
ﬂﬂtu Qgmiit iy &rihs LIYUTEH q 92
.Z_L ke i
I Qi 7L DIDOTH wmmur® N
3 ' $r4 11
Wiy &mipg ommur L
e it Qi dlwpm wrmLn® s b 92 5’ g
Wl b b

149. Acoordmg to Darwm spematlon is effected by
R
2

53 | ® 8
12 : D=
v 518
33 @) ==
12 ' L2
Answer not known
9. 5. 80 12 . <27
o3 43
3 e ® = -
12 ; ; 12 )

. o %,

12 ; 12
eflenL Qg flweliicveney - g s T 5
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